Lesson 22 (even problems must be solved in class, odd
examples must be solved at home)

53. Expand, in pewers of x—2, the polyno-

mial x8—5x345x2+x+2. Ans. —7(x—2)—(x—2)*+3(x—2)+(x—2)¢.
84. Expand, in powers of x-1, the polynomial x®-4-2x4—x*+4x-+1. Ans.
(x4+124+2x+11®—3(x+1)4+(x+1)®. 56. Write Taylor’s formula for the
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function y= ¥ x when a=1, n=3. Ans. Vx=1+"—l'-' ?—!—# °T+

7

+(J:.—2-.l;° . %__(xz'l)‘ LS 48(x—1)) %, 0<08< 1. 56. Write the Mac-

laurin formula for the functlon y=V 14+x when n=2. Ans. VY |l+x=1+4
+ ;—x—% x4 % , 0 <0< 1. 57. Using the results of the preced-
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ing exercise, estimate the error of the approximate equation Y l+4x=
1 1
P — e — x2 — _—
= 14 FX—g* when x=0.2. Ans. Less than 3105
Determine the origin of the approximate equations for small values of x
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and estimate the errors of these equations: 58. In cosx~—52——-x—‘.
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59. tanx = x+x"+2lxs‘ 60. arcsin xx x+£ 61. arctanx = x—%‘.

fﬂ o oo .4_24 63. In(x+ V1—) =~ x— x’+ |

Using Taylor’s formula, compute the limits of the followmg expressions:

62.
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o4 lim —E=S0% o ang 1 s Lm (U HO—SITx 0y
“’oe-"—]_x—% x>0 | —e—*
g6. lim 2(anx—sn0—x 0 1 67 lim [x—x’- In (1+l>]. Ans. 0.
x=-0 o 4 x>0 £
/1 cotx 1 . 1 2
. —_—— . . = . i — —cot?2 . . -
68 xh-:no (xz r ) Ans 7 69 ;-r.no (x’ cot x) Ans 3



